
〇×△－□

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

＜分配のきまり＞

×△

〇×△＋□×△＝

×△＝ 〇－□

① 2 7 × 8

〇＋□ ×△

− 7 × 8

＝ 2 7 － 7 × 8

＝ 2 0 × 8

＝

② 9 2 × 4 ＋ 8 × 4

4

＝ ×

＝ ＋

＝

×

１

① 例題

(うすい字はなぞりましょう。)

( ))

( ))

( )

( )



300

＝

100

＝ ×

106 6

＝ 7 × −

80

＝

6 − 7 × 6② 7 × 1 0

＋ 1
40

＝ 2 × 4 0

＝ 2 × 3 9

＋ 2 × 1
39

△× 〇＋□

① 2 × 3 9

－□

△×〇＋△×□＝

×□＝△× 〇

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

＜分配のきまり＞

△×〇－△

② 確認

2

(うすい字はなぞりましょう。)

( ))

( ))

( )

)

( )



300

＝

×
100

＝

＝ ＋
88 12

60

＝

＋ 1② 8 8 × 3 2 × 3

×
10

＝ ×

＝ −

− 5 × 6
15

〇＋□ ×△

① 1 5 × 6

×△

〇×△＋□×△＝

×△＝ 〇－□

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

＜分配のきまり＞

〇×△－□

③ 確認

3

(うすい字はなぞりましょう。)

( ))

( ))

( )

( )

)



500

＝

100

＝

82 18

＝ × ＋

2 ＋ 5 × 1 8② 5 × 8

−

160

＝

20

＝

＝ ×

− 8 × 6
26

△× 〇＋□

① 8 × 2 6

－□

△×〇＋△×□＝

×□＝△× 〇

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

＜分配のきまり＞

△×〇－△

④ 確認

4

( ))

( ))

( )

)

( )



日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 4 × 6 − × 64

× 6

＝

＝ × 6

＝ 3 4 － 4

② 9 3 × 2 7 × 2

＝ ＋ ×

＋

＝

③ 1 0 8 × 4 － 8 × 4

×

＝

＝ －

)

)

５

⑤ 定着

(うすい字はなぞりましょう。)

(

( )

(



102

2

800

0 2 − 5 ×③ 5 × 1

＋
100

＝

＝ 8 ×

＋ 8 × 1
99

20

＝

② 8 × 9 9

−
10

＝ 2 ×

15

＝ 2 ×

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 2 × 1 5 − 2 × 5

)

)

⑥ 定着

6

(うすい字はなぞりましょう。)

(

(



2 − 3 × 2
103

③ 1 0 3 ×

9
96

30

＝ ×

×

② 9 6 × 9 ＋ 4 ×

32

＝ −

120

＝

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 2 × 4 − 2 × 4

)

⑦ 定着

7

(うすい字はなぞりましょう。)

(



− 6 × 5
105

5③ 6 × 1 0

34

4② 7 × 3 7 ×

22 38

− 4

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 × 2 2 ＋ 3 × 3 8

⑧ 定着

8



8 − 4 × 8
104

③ 1 0 4 ×

92

② 9 2 × 6 ＋ 8 × 6

52 22

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 5 2 × 4 − 2 2 × 4

⑨ 定着

9



日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 4 5 × 7 − 5 × 7

② 3 × 9 4 ＋ 3 × 6

③ 1 0 9 × × 88 − 9

④ 4 × 2 5 ＋ 4 × 5

10

⑩ 仕上げ



109

④ 1 0 6 × 3 − 6 × 3

＋ 2 × 5
25

③ 2 × 2 5

− 3 × 7
23

② 2 3 × 7

4 × 8
92

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 4 × 9 2 ＋

11

⑪ 仕上げ



24

④ 2 4 × 6 ＋ 6 × 6

＋ 8 × 1
99

③ 8 × 9 9

2
109

2 − 3 ×

25

② 1 0 3 ×

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 5 × 3 6 − 5 × 6

12

⑫ 仕上げ



2 8 × 9
0 0

④ 3 2 × 9 ＋

− 4 × 6
0

③ 4 × 9 6

0

② 1 0 2 × 8 − 2 × 8

3 × 1 4
0 0

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 × 2 6 ＋

13

⑬ 仕上げ



＋ 7 × 2 7
13 27

105

④ 7 × 1 3

③ 1 0 5 × 4 − 5 × 4

2
84 54

− 5 4 ×

92

② 8 4 × 2

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 5 × 9 2 ＋ 5 × 8

14

⑭ 仕上げ



名まえ

・ くふうして計算しましょう。

① 1 0 6 × 9 − 6 × 9

② 9 8 × 4 ＋ 2 × 4

③ 3 4 × 9 − 4 × 9

④ 7 1 × 5 ＋ 9 × 5

15

⑮ 力だめし

(各25点)

目指せ100点！



38

④ 3 8 × 8 − 8 × 8

97

③ 5 × 9 7 ＋ 5 × 3

× 6
116 16

25

② 1 1 6 × 6 − 1 6

名まえ

・ くふうして計算しましょう。

① 3 × 2 5 ＋ 3 × 5

16

⑯ 力だめし

目指せ100点！

(各25点)



× 4

6 0

日にち：　　月　　日

名まえ

4 ＋ 8 × 4

× 8

×△＝

2 7

・ くふうして計算しましょう。

① 2 7 × 8 − 7 × 8

＜分配のきまり＞

－ 7

② 9 2 ×

1

＝

× 4

＝ 9 2 ＋ 8

＝ 2 0 × 8

＝

＝ 4 0 0

0＝ 1 0

〇×△－□ 〇－□ ×△

〇×△＋□ □ ×△×△＝ 〇＋

１

① 例題 答え

(うすい字はなぞりましょう。)

( ))

( ))

( )

( )



700

＝ 7 0 0

× ＋□

× −

80

×2
40

＋ 1×2
39

〇

7
100

＝ 1 0 0×7

＝ 1 0 66
106 6

6

＝ 8 0

− ×7② 1 0×7 6

＝ 4 0×2

＝ 3 9 ＋ 1

① 3 9×2

日にち：　　月　　日

名まえ

×△

△×〇＋△×□＝

×△ ＝

△

・ くふうして計算しましょう。

＜分配のきまり＞

〇×△ － □ 〇－□

② 確認 答え

2

(うすい字はなぞりましょう。)

( ))

( ))

( )

)

( )



12

＝ 3 0 0

10

1
60

88

300

× 3

＝ 1 0 0 × 3
100

1＝ 8 8 ＋ 2

6 0

② 8 8 × 2 × 313 ＋

＝ 0 × 6

＝

− 5 × 6

＝ 1 5 − 5 × 6
15

〇＋□ ×△

① 1 5 × 6

×△

〇×△＋□×△＝

×△＝ 〇－□

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

＜分配のきまり＞

〇×△－□

③ 確認 答え

3

(うすい字はなぞりましょう。)

( ))

( ))

( )

( )

)



500

＝ 5 0 0

82 18

＝ 5 ×
100

＝ 5 × 1 0 0

8 2 ＋ 81

160

＝ 6 01

② 5 × 8 5 × 812 ＋

− 6
20

＝ 8 × 2 0

＝ 8 × 2 6

− 8 × 6
26

△× 〇＋□

① 8 × 2 6

－□

△×〇＋△×□＝

×□＝△× 〇

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

＜分配のきまり＞

△×〇－△

④ 確認 答え

4

( ))

( ))

( )

)

( )



日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 4 × 6 − 4 × 6

× 6

＝ 3 0 × 6

＝ 3 4 － 4

＝ 1 8 0

③ 1 0 ×

2 0

② 9 3 ×

＝

＝

4

＝ 1 8 － 8 4

4

＝ 4 0 0

＝ 1 0 0 ×

7 × 2

＝ 1 0 0 ×

9 3 ＋ 7

2 ＋

0

8

0

× 2

2

×

4 － 8 ×

)

)

)

５

⑤ 定着 答え

(うすい字はなぞりましょう。)

(

(

(



500

＝ 5 0 0

100

＝ 1 0 0×5

− 2

5 −

×5＝ 1 0
102

800

0 2

2

③ 1× 2×5

＝ 9 9

＝ 8 0 0

100

＝ 1 0 0×8

99

20

＋ 1×

＋

8

＝ 2 0

② 9 9× 1×88

5×2
10

＝ 1 0×2

15

＝ 1 5 −

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 1 5×2 − 5×2

)

)

)

⑥ 定着 答え

6

(うすい字はなぞりましょう。)

(

(

(



200

1

96

100

＝ 2 0 0

100

＝

＝

＝

＝

32

30

120

900

103

9 0 0

1 0 0

9 6

2 0

3 × 2

＝ 1 0 0 × 2

＝ 1 0 3 −

2 − 3 × 2③ 1 0 3 ×

× 9

4 × 9

＋ 4 × 9

＋② 9 6 × 9

× 4

＝ 3 0 × 4

＝ 3 2 − 2

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 2 × 4 − 2 × 4

)

)

)

⑦ 定着 答え

7

(うすい字はなぞりましょう。)

(

(

(



38

600

＝ 6 0 0

5 − 5
100

＝ 6 × 1 0 0

105

＝ 6 × 1 0

5

210

＝ 2 1 0

0 5 − 6 ×③ 6 × 1

−

＝ 7 ×

＝ 7 ×

3 0

− 7 × 4
34

3 4 4
30

180

＝ 8 01

② 7 × 3 4

＋ 8
60

＝ 3 × 6 0

3
22

＝ 3 × 2 2

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 × 2 2 ＋ 3 × 83

)

)

)

⑧ 定着 答え

8

(

(

(



800

＝ 8 0 0

2
22

× 84

6×

× 6

× 8

＝ 1 0 4 −
100

＝ 1 0 0

8 − 4 × 8
104

600

＝ 6 0 0

③ 1 0 4 ×

× 6

＝ 9 2 ＋ 8
100

＝ 1 0 0

92

120

＝ 1 2 0

② 9 2 ×

4
30

＝ 3 0 × 4

2 ×

6 ＋ 8

52

＝ 5 2 −

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 5 2 × 4 − 2 2 × 4

)

)

)

⑨ 定着 答え

9

(

(

(



日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 4 5 × 7 − 5 × 7

＝ 4 5 － 5 × 7

② 9 4×3 ＋

＝ 4 0 × 7

＝ 2 8 0

3 × 6

＝ 9 4 ＋ 6×3

＝ 3 0 0

0×3

④ 2 5×4

8

＝ 1 0

③ 1 0 × 8

＝

＝ 1 0 ×

9 × 8

＝ 1 0 － 9 × 8

−

0×

8

4

4 × 5

5×4

0 0

＋2 5

＋

＝ 1 2 0

9

9

0

＝ 3

＝

10

⑩ 仕上げ 答え

( )

( )

( )

( )



6 0

6 × 3

× 3

3 − 6 × 3

−

400

5

＝ 2 × 3 0

＋ 2 × 5

＝ 2 × 2 5 ＋

＝ 4

25

30

7

＝ 1

＝ 3 0 0

④

2 × 2 5

＝ 1 0 0

＝ 1 0 6

300

100

106

60

＝

9 2 ＋

0 0

③

1 0 6 ×

＝ 4 × 1

②

＝ 2 0 ×

23

20

140

100

92

4 0

3 × 7

＝ 2 3 − 3 × 7

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

①

2 3 × 7 −

0 0

4 × 8

＝ 4 × 9 2 ＋ 8

4 ×

11

( )

( )

( )

( )

⑪ 仕上げ 答え

(



× 2
100

＝ 1 0 0 × 2

＝ 1 0 3 − 3
103

150

＝ 5 01

200

＝ 2 0 0

④

1 0 3 ×

− 6
30

＝ 5 × 3 0

1

× 1
99

＝ 8 × 9 9 ＋

2

180

＝ 1 8 0

③

5 × 3 6

800

＝ 8 0 0

②

100

＝ 8 × 1 0 0

8

× 6
30

＝ 3 0 × 6

＋ 6 × 6
24

＝ 2 4 ＋ 6

2 4 × 6

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

①

8 × 9 9 ＋

− 5 × 6
36

＝ 5 × 3 6

− 3 × 2

12

( )

( )

( )

( )

⑫ 仕上げ 答え



14

2

2
28

540

＝ 5 4 0

1

× 9
60

＝ 6 0 × 9

＋ 8 × 9
32

＝ 3 2 ＋ 8

360

＝ 3 6 0

④ 3 2 × 9

− 6
90

＝ 4 × 9 0

− 4 × 6
96

＝ 4 × 9 6

800

＝ 8 0 0

③ 4 × 9 6

＝ 1 0 0 × 8

＝ 1 0 2 − 2
102

120

＝ 1 2 0

× 8
100

4
40

＝ 3 × 4 0

8 − 2 × 8

26

＝ 3 × 2 6 ＋

② 1 0 2 ×

日にち：　　月　　日

名まえ

・ くふうして計算しましょう。

① 3 × 2 6 ＋ 3 × 41

13

( )

( )

( )

( )

⑬ 仕上げ 答え



60

＝ 6 0

× 2
30

＝ 3 0 × 2

＝ 8 4 − 5 4

5 4 × 2
84 54

④

8 4 × 2 −

400

＝ 4 0 0

③

× 4
100

＝ 1 0

500

＝ 5 0 0

＋ 8
100

＝ 5 × 0 0

＝ 5 × 9 2

280

＝ 2 8 0

27

0 × 4

2 7
40

＝ 7 × 4

13

0

＝ 7 × 1 3 ＋

日にち：　　月　　日

名まえ

4
105

＝ 1 0 5 − 5

5 × 9 2

4 − 5

・ くふうして計算しましょう。

①

7 × 1 3 ＋

②

1 0 5 ×

7 × 2 7

＋ 5 × 8
92

×

1

14

( )

( )

( )

( )

⑭ 仕上げ 答え



名まえ

・ くふうして計算しましょう。

① 1 0 × 9 −

9

＝ 9 0 0

6 × 9

＝ 1 0 － 6 × 9

② 9 8 × 4 ＋

＝ 1 0 ×

× 4

2 × 4

＝ 9 8 ＋ 2 × 4

＝ 4 0 0

③ 3 4 ×

＝ 1 0 0

× 9

＝ 3 0 × 9

9 − 4 × 9

＝ 3 4 －

2 7 0

④ 7 1 × 5

4

＝ 4 0 0

6

6

0

5

＝ 8 0 × 5

＋ 9 × 5

＝ 7 1 ＋ 9 ×

＝

15

⑮ 力だめし 答え

( )

( )

( )

( )

(各25点)

目指せ100点！



8
38

＝ 3 8

＝ 2 4 0

× 8
30

＝ 3 0 × 8

④ 3 8 × 8

1

1
16

240

− 8 ×

100

＝ 5 × 1 0 0

− 8

500

＝ 5 0 0

＋ 5 × 3
97

＝ 5 × 9 7 ＋ 3

600

＝ 6 0 0

③ 5 × 9 7

100

＝ 1 0 0 × 6

＝ 1 1 6 −

× 6
116

90

＝ 9 0

× 66

5
30

＝ 3 × 3 0

6 − 6

25

＝ 3 × 2 5 ＋

② 1 1 6 ×

名まえ

・ くふうして計算しましょう。

① 3 × 2 5 ＋ 3 × 5

16

( )

( )

( )

( )

⑯ 力だめし 答え

目指せ100点！

(各25点)


